TCH-FF 2010, HUK. Dimensional data not binding. We reserve the right to alter specifications without notice.

Plinth Adjusting Fittings
M10 Plinth Adjusting Screws

HAFELE

M10 »~

e
Length

@30

@ M10 plinth adjusting screw

e Slot in screw tip provides simple adjustment of plinth height using a
screwdriver
e For use with C, D, E, For G

® Bright galvanized steel

- Front _

Base of

Screw on
bracket

M10 plinth
adjusting screw

M10 < :
Floor
(D] Screw on bracket
* Galvanized steel
Cat. No
Screw on bracket 637.06.007

Order gty: 1 pc

Length Cat. No. 2’;35'1!‘,',‘;“
60 mm 637.02.009 screw
69 mm 637.02.018
80 mm 637.02.027 IE' Screw on plate
90 mm 637.02.036 ¢ Galvanized steel
100 mm 637.02.045 Cat. No.
120 mm 637.02.054 Screw on plate 637.09.008
Order qty: 1 pc Order gty: 1 pc
-~ 2165

‘

;
I
Base

M10 \
K A ‘ Screw in
1?\ ' socket
/© L 7 } M10 plinth
djusting
~ o18.5 e
33 w / screw
E| Screw in socket
Protective cap o With screwdriver slot
e Press fits onto baseplate of A e With M10 internal thread
e Transparent plastic e Bright steel
Cat. No. Cat. No.
Protective cap 637.02.090 Screw in socket 030.00.502
Order gty: Multiples of 100 pcs Order gty: 1 pc
- -0 12
—Front*‘ | ‘«ﬂ 1 1]
"] Base of y Mi0
unit 10\/‘ M10 T-nut
. Screw on Plinth
/ bracket ‘
il M10 plinth L0725 | M10 plinth
' adjusting screw 4_ adjusting
— screw
T
Fl :
oor @ M10 T-nut, knock-in
IE' Screw on bracket e With four prongs
e Galvanized steel e Dull steel
Cat. No. Cat. No.
Screw on bracket 637.07.004 M10 T-nut 031.00.301

Order qgty: 1 pc

Order gty: Multiples of 100 pcs

Sales and Support Head Office 01788 542 020 e Bristol 0117 935 9645 e Manchester 0161 745 8242
London 020 8551 8888 e Scotland 01698 422 525 ¢ Wales 01269 831 433 e Yorkshire 01977 680 388

Castors, Feet, Legs and Table Fittings




